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61 243 Rooms Division Management

Final Exam Answer Sheet
1. Suppose you are a Housekeeping Room maid responsible for cleaning 24 rooms in Corridor B as depicted by the following scheme:
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	→ 
	Corridor B
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Moreover, suppose that you were communicated the following expected room statuses:

· Stayover rooms: 201, 204, 205 , 206, 210, 212, 213, 215, 216, 219 & 223
· Rooms for New Arrivals: 203, 208, 209, 214, 218 , 220, 221 & 224
· Vacant Rooms: 202, 207, 211, 217 & 222
In addition, suppose, it would take you on an average 25 minutes to clean rooms for new arrival, 20 minutes to clean stayover rooms and 14 minutes to clean vacant rooms. Lastly, you need to add 7 % allowance on the top of the total minutes needed for cleaning, to compensate for fatigue, breaks, and going back and forth the corridor.
a) If you are approaching Corridor B from rooms 201 & 202, what is the sequence of cleaning the 24 rooms? (I.e. Which room you start with, then where do you go…?) Why did you choose that very sequence? (2 Points)

The sequence of cleaning should be (by room number):

203 → 208 → 209 → 214 → 218 → 220 → 221 → 224 → 223 → 219 → 215 or 216 →  216 or 215 → 213 → 212 → 210 → 205 or 206 → 206 or 205 → 204 → 201 → 202 → 207 → 211 → 217 → 222.
The reason(s) behind such a very cleaning sequence is:

· New arrival rooms need to be cleaned first, followed by stayover rooms. Lastly, we shall clean vacant rooms.
· Minimize the time lost due to the movement from a room to another.

b) What is the maximum amount of time (in hours) that shall be spent to clean the assigned rooms? (1 Point)

· Cleaning Time = (8 * 25) + (11 * 20) + (5 * 14) = 200 + 220 + 70 = 490 Minutes.
· Allowance Time = 490 * 0.07 = 34.30 Minutes.
· Maximum cleaning time = 490 + 34.30 = 524.30 Minutes → 8.74 Hours.
2. Fernandez Holiday village consists of 300 deluxe rooms, 80 of them are single, 170 are double and the remaining are triple rooms. Upon the preparation of year 2013 budget, the Rooms Division manager has to come up with the Single Rack Rate, Double Rack Rate and Triple Rack Rate for the coming year. The following undistributed expenses and fixed charges have been provided from the Management Information System Department of Fernandez Holiday Village (all estimates for 2013):
	Expense Type
	Amount
	Allocation to Rooms Division (%)

	Administrative & General 
	$2,750,000
	45%

	Utility
	$575,250
	65%

	Debt
	$180,426
	20%

	Depreciation
	$369,780
	25%

	Rent
	$750,000
	60%

	Marketing
	$218,555
	70%

	Maintenance
	$428,330
	60%

	Insurance
	$75,545
	50%

	
	
	


Furthermore, assume that:
· The 2013 forecasted single occupancy: 70 %
· The 2013 forecasted double occupancy: 85 %
· The 2013 forecasted triple occupancy: 40 %
· The estimated single daily Direct Expense per occupied room: $ 60.00.

· The estimated double daily Direct Expense per occupied room: $ 90.00.

· The estimated triple daily Direct Expense per occupied room: $ 125.00.
Lastly, Fernandez Holiday Village desires to have a room cost percentage of 55 % on Single Rooms, 35 % on Double Rooms and 40 % on Triple Rooms.

	Expense Type
	Amount
	Allocation to Rooms Division (%)
	Rooms Division Expense

	Administrative & General 
	$2,750,000
	45%
	$1,237,500

	Utility
	$575,250
	65%
	$373,913

	Debt
	$180,426
	20%
	$36,085

	Depreciation
	$369,780
	25%
	$92,445

	Rent
	$750,000
	60%
	$450,000

	Marketing
	$218,555
	70%
	$152,989

	Maintenance
	$428,330
	60%
	$256,998

	Insurance
	$75,545
	50%
	$37,773

	
	
	
	

	
	
	Total
	 $2,637,702


· Total number of Single rooms expected to be sold (2013): 80 * 0.70 * 365 = 20,440 rooms.

· Total number of Double rooms expected to be sold (2013): 170 * 0.85 * 365 = 52,742.50 rooms.

· Total number of Triple rooms expected to be sold (2013): 50 * 0.40 * 365 = 7,300 rooms.
· Indirect Expenses per occupied room per day = 2,637,702 / (20,440 + 52,742.50 + 7,300) = 2,637,602 / 80,482.50 rooms = $ 32.77.
a) What is Fernandez Holiday Village Single Hurdle Rate? (2 Points)

· Fernandez Holiday Village Single Hurdle Rate = 60 + 32.77 = $ 92.77.
b) What is Fernandez Holiday Village Double Hurdle Rate? (2 Points)

· Fernandez Holiday Village Double Hurdle Rate = 90 + 32.77 = $ 122.77.
c) What is Fernandez Holiday Village Triple Hurdle Rate? (2 Points)

· Fernandez Holiday Village Triple Hurdle Rate = 125 + 32.77 = $ 157.77.

d) Could you interpret the results found in part a), b) and c)? (1 Point)

The results found in parts a), b) and c) refer to the minimum prices with which front office clerks shall sell their rooms. Otherwise, Fernandez Holiday Village would be selling its rooms at a loss.
e) What is Fernandez Holiday Village Single Rack Rate? (1 Point)

· Fernandez Holiday Village Single Rack Rate = 92.77 * (1 / 0.55) = $ 168.67.

f) What is Fernandez Holiday Village Double Rack Rate? (1 Point)

· Fernandez Holiday Village Double Rack Rate = 122.77 * (1 / 0.35) = $ 350.77.

g) What is Fernandez Holiday Village Triple Rack Rate? (1 Point)

· Fernandez Holiday Village Triple Rack Rate = 157.77 * (1 / 0.40) = $ 394.43.

h) Suppose that Fernandez Holiday Village wants to boost Triple room sales by discounting the Triple Rack Rate by 40 %. Could you help management find the Triple Equivalent Occupancy Rate? (2 Points)

· Triple Equivalent Occupancy = 0.40 * (394.43 – 125) / ((394.43 * (1 - 0.40) – 125)) = 0.40 * (269.43 / 111.658) = 0.40 * 2.41299 = 0.9651973 = 96.52 %.
i) Could you interpret the result you found in part h)? (1 Point)

A discount on the triple rack rate of 40 % shall lead to an increase of triple occupancy from 40 % to at least 96.52 % so that profitability before and after discounting remains the same.
N.B.: All you results for the Second Question shall be rounded to two decimals!
3. Nene Hotel has 165 rooms, 10 of them are suites, 15 are triple, 85 are double, and the remaining is single. Management decided to use the Hubbart Formula to estimate 2013 year’s Single, Double, Triple and Suite Rack Rates.
Post to a preliminary work, management estimated the Average Room Rate to be $ 250 and the occupancy rate is 73.79 %. Moreover, management estimated the following:
· Single Occupancy: 60.00 %
· Double Occupancy: 95.00 %
· Triple Occupancy: 40.00 %
· Suite Occupancy: 20.00 %
Lastly, management desires to have the following relation between single, double, triple and suite rack rates:
· Double Rack Rate shall be 2 times Single Rack Rate 

· Triple Rack Rate shall be $ 80 more than  Double Rack Rate
· Suite Rack Rate shall be 3 times Triple Rack Rate.
a) What is the daily total number of rooms expected to be sold for the upcoming year? (1 Point)

· Daily Total Number of Rooms expected to be sold = 165 * 73.79 % = 121.75 rooms.
b) What is the daily number of single, double, triple and suite rooms expected to be sold for the upcoming year? (3 Points)

· Daily Number of Single Rooms expected to be sold = 55 * 60 % = 33 Rooms.
· Daily Number of Double Rooms expected to be sold = 85 * 95 % = 80.75 Rooms.
· Daily Number of Triple Rooms expected to be sold = 15 * 40 % = 6 Rooms.
· Daily Number of Suite Rooms expected to be sold = 10 * 20 % = 2 Rooms.

c) What is the single rack rate? (2 Points)

Let χ denote Single rack rate;

(33 * χ) + (80.75 * (2 * χ)) + (6 * ((2 * χ) + 80) + (2 * 3 * ((2 * χ) + 80) = 250 * 121.75 ↔ 218.50 * χ + 480 + 480 = 30,437.50 ↔ 218.50 * χ + 960 = 30,437.50 ↔218.50 * χ = 29,477.50 ↔ χ = $ 134.91.
d) What shall be the double, triple and suite rack rates? (1 Point)

· Double Rack Rate = 134.91 * 2 = $ 269.82.
· Triple Rack Rate = 269.82 + 80 = $ 349.82.

· Suite Rack Rate = 349.82 * 3 = $ 1,049.46.

4. Milevsky Hotel's historical room nights for the past 10 years are depicted below:
	Year
	Room Nights

	
	

	2003
	9,610

	2004
	9,758

	2005
	9,815

	2006
	9,010

	2007
	8,855

	2008
	8,975

	2009
	9,426

	2010
	9,993

	2011
	10,225

	2012
	10,423


Forecast Year 2013 room nights using:
a) Percentage Growth Method? (1 Point)

· Total percentage growth in room nights = (10,423 – 9,610) / 9,610 * 100 = 8.46 %

· Yearly percentage change = 8.46 % / 10 = 0.85 %

· 2013 Forecasted room nights = 10,423 * (1 + 0.85 %) ≈ 10,511 room nights.
b) Triple Moving Average Method?  (You shall fill the below table!!) (3 Points)
	Year
	Room Nights
	Triple Moving  Average       AverageAAverage

	
	
	

	2003
	9,610
	---------

	2004
	9,758
	---------

	2005
	9,815
	9,727.67

	2006
	9,010
	9,527.67

	2007
	8,855
	9,226.67

	2008
	8,975
	8,946.67

	2009
	9,426
	9,085.33

	2010
	9,993
	9,464.67

	2011
	10,225
	9,881.33

	2012
	10,423
	10,213.67


· Total Triple Moving Average percentage growth in room nights = (10,213.67 – 9,727.67) / 9,727.67 * 100 = 5.00 %

· Period’s percentage change = 5.00 % / (10 – 2) = 0.62 %

· 2011 – 2012 - 2013 Forecasted Triple Moving Average = 10,213.67 * (1 + 0.62 %) = 10,277.455 room nights
· 2013 Forecasted room nights = (10,277.455 * 3) – (10,423 + 10,225) ≈ 10,184 room nights.
c) Weighted Average Method (Simplest Method)? (1 Point)
	Year
	Room Nights
	Weight
	Total

	
	
	
	

	2003
	9,610
	1
	9,610

	2004
	9,758
	2
	19,516

	2005
	9,815
	3
	29,445

	2006
	9,010
	4
	36,040

	2007
	8,855
	5
	44,275

	2008
	8,975
	6
	53,850

	2009
	9,426
	7
	65,982

	2010
	9,993
	8
	79,944

	2011
	10,225
	9
	92,025

	2012
	10,423
	10
	104,230

	
	
	
	

	
	Total
	55
	534,917


· 2013 Forecasted room nights = 534,917 / 55 ≈ 9,726 room nights.
d) Suppose, post to running regression analysis, the following regression equation has been found:
Demand (in Room Nights) = 77.84 * Year – 146,659.67
Could you forecast 2013 demand using the above regression analysis? (1 Point)

· 2013 Forecasted room nights = (77.84 * 2013) – 146,659.67 ≈ 10,032 room nights.
N.B.: All your answers to parts a), b), c) & d) shall be rounded to the nearest whole number!
5. Webo Club has 298 rooms: 35 are triple, 180 are double and the remaining is single. On the night of January 2nd, 13 the night auditor counted 260 rooms occupied, 18 are triple, 165 are double, and the remaining is single. Moreover, the night auditor reported, on the same night, 400 guests registered in the hotel, 323 of them occupy either a double or triple room. Moreover, Webo Club’s night auditor counted 145 rooms occupied by more than 1 guest. In addition, the housekeeping department communicated 4 rooms (1 Single, 2 Double and 1 triple) out of order for the night of January 2nd, 13. Lastly, the night auditor reported 3 complimentary rooms and calculated that very night’s room revenue to be $ 96,750.
a) What is Webo Club's Occupancy Rate for the night of January 2nd, 13? (1 Point)

· Webo Club’s Occupancy Rate = 260 / (298 – 4) * 100 = 88.44 %.
b) What is Webo Club’s Single, Double, and Triple Occupancy rates for the night of January 2nd, 13? (3 Points)

· Webo Club’s Single Occupancy Rate = 77 / (83 – 1) * 100 = 93.90 %.

· Webo Club’s Double Occupancy Rate = 165 / (180 – 2) * 100 = 92.70 %.

· Webo Club’s Triple Occupancy Rate = 18 / (35 – 1) * 100 = 52.94 %.
c) What is Webo Club’s Multiple Occupancy for the night of January 2nd, 13? (1 Point)

· Webo Club’s Multiple Occupancy = (145 / 260) * 100 = 55.77 %.
d) What is Webo Club’s Average Guest per Room Sold? (2 Points)

· Webo Club’s Average Guest per Room Sold = 400 / (260 – 3) = 1.56 Guest per Room Sold.
e) What is Webo Club’s Average Daily Rate? (2 Points)

· Webo Club’s Average Daily Rate = 96,750 / (260 – 3) = $ 376.46.

f) What is Webo Club’s Average Rate per Guest? (2 Points)

· Webo Club’s Average Rate per Guest = 96,750 / 400 = $ 241.88 per Guest.

N.B.: All your answers to parts a), b), c), d), e) & f) shall be rounded to the nearest cent!
6. Babel Hotel’s Historical Operating Expenses & allocated Fixed Costs to the Rooms Division Department are depicted in the following table:
	Expense Items
	2010
	% Rev.
	2011
	% Rev.
	2012
	% Rev.

	
	
	
	
	
	
	

	Wage / Benefits
	$830,400
	8.74%
	$845,520
	8.58%
	$875,000
	8.31%

	Laundry / Linen
	$80,000
	0.84%
	$83,500
	0.85%
	$85,600
	0.81%

	Materials
	$325,700
	3.43%
	$360,450
	3.66%
	$380,230
	3.61%

	Frills
	$40,000
	0.42%
	$42,500
	0.43%
	$43,050
	0.41%

	
	
	
	
	
	
	

	Total Oper. Cost
	$1,276,100
	13.43%
	$1,331,970
	13.52%
	$1,383,880
	13.15%

	Allcted. Fix. Cost
	$4,250,000
	44.74%
	$4,526,000
	45.95%
	$4,880,000
	46.37%

	
	
	
	
	
	
	

	Room Revenue
	$9,500,000
	100%
	$9,850,000
	100%
	$10,525,000
	100.00%


Using the Percentage Growth Method:
a) Determine the 2013 standards for the operating expense items in the last column. (2 Points)
Wage / Benefits:

· Total percentage growth = (8.31 % – 8.74 %) / 8.74 % * 100 = - 4.92 %

· Yearly percentage change = - 4.92 % / 3 = - 1.64 %

· 2013 Wage / Benefits % = 8.31 % * (1 – 1.64 %) ≈ 8.17 %.
Laundry / Linen:

· Total percentage growth = (0.81 % – 0.84 %) / 0.84 % * 100 = - 3.57 %

· Yearly percentage change = - 3.57 % / 3 = - 1.19 %

· 2013 Laundry / Linen % = 0.81 % * (1 – 1.19 %) ≈ 0.80 %.
Materials:

· Total percentage growth = (3.61 % – 3.43 %) / 3.43 % * 100 = 5.25 %

· Yearly percentage change = 5.25 % / 3 = 1.75 %

· 2013 Materials % = 3.61 % * (1 + 1.75 %) ≈ 3.67 %.
Frills:

· Total percentage growth = (0.41 % – 0.42 %) / 0.42 % * 100 = - 2.38 %

· Yearly percentage change = - 2.38 % / 3 = - 0.79 %
· 2013 Frills % = 0.41 % * (1 – 0.79 %) ≈ 0.41 %.
b) Estimate the 2013 Room Revenue. (1 Point)

· Total percentage growth = (10,525,000 – 9,500,000) / 9,500,000 * 100 = 10.79 %

· Yearly percentage change = 10.79 % / 3 = 3.60 %
· 2013 Estimated Revenue = 10,525,000 * (1 + 3.60 %) ≈ $ 10,903,531.
c) Estimate the 2013 Expense Items and the Total Operating Expenses (1 Point)

· 2013 Estimated Wage / Benefits = $ 891,224.

· 2013 Estimated Laundry / Linen = $ 87,267.

· 2013 Estimated Materials = $ 400,503.

· 2013 Estimated Frills = $ 44,350.

· 2013 Estimated Total Operating Expenses = $ 1,423,344.
d) Determine the 2013 Allocation % to the Rooms Division Department (1 Point)

· Total percentage growth = (46.37 % – 44.74 %) / 44.74 % * 100 = 3.64 %
· Yearly percentage change = 3.64 % / 3 = 1.21 %
· 2013 Estimated Allocation % to the Rooms Division Dep. = 46.37 % * (1 + 1.21 %) ≈ 46.93 %.
N.B.: Only answers to parts a), b), c) & d) without showing how did you reach those very answers will not be graded. Moreover, all your answers to parts a), b), c) & d) shall be rounded to the nearest cent.
Good Luck!
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